AP - §f (@R uRER) U< 9. 1422
TECHNICIAN —-B [BOILER ATTENDANT] — POST NO.1422

1. Frofafed @ 9 ddl &  ferget St m &R A gaa vl & a1y 8t &t 18 872

Which one of the following screw thread elements is not checked with the Go and NoGo
ring gauges?

A. faa/Pitch

B. Frsfarl ®Iul/Helix angle
C. uR=sfa®1/Profile

D. fU= &r4/Pitch diameter

2. Fufafea d I a8 T gt o 9 TR Iuds g1

Out of the following, choose the number in which morse taper is available?

A.1%/to 7 d®
B. 0 9/to 8 T
C.03d/to 7 d®
D. 1 3/to 8 d&

3. Y& & <d P HICE AU P o forg Sus=ur o1 IuanT fohan Sirdr 872

Which instrument is used to measure Tooth thickness of rack?

A. gfFada affeR BferaR/Universal vernier caliper
B. Tl ATSshIHIe/Flange micrometer

C. fieR gy afftr Hferar/Gear tooth vernier caliper
D. 18R ¢¥RGear tester

4. o @ a=ia § P o TETS B UTd B Sl 87

How depth of cut is achieved in a planing machine?

A. 3SR YRS & WIS T &1 YUIH b / Rotating the feed screw of the tool holder
B. 3R T &1 AR %% /Adjusting tool slide
C. Hfds@a &I gard/Moving cross slide

D. 3% W &1 fHera@/Lifting the work piece
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5. & Hiex dars & ol aob g o1 m=iif & fou Fafafed & 9 g Ius=or &1 udhT fasar
SITEI?
Which of the following equipment will be used for machining a work piece of two meters
length?

A. Tyu/Milling
B. wlfcT/Slotting
C. Wf/Planing
D. =4ul/Shaping

6. Uiqa & aref Sl & da Wil B Bre 8 Tgad &+t b1 UHR HIF-9T g2

Which is the type of Chisel used for cutting oil grooves into brass half bearings.

A. 94T B+t/Flat chisel

B. %19 w+i1/Cross chisel

C. ST &+1/Web chisel

D. 31¢f 9@ T ®+1l/Half round nose chisel

foffed & 9 H19-91 U6 $HT 3UeRs 82

Which out of the following is an artificial abrasive?
A. TRI/Emery

B. 8R1/Diamond

C. et wraigs/Silicon carbide

D. ®ReH/Corundum



8. uh w=iH o1 fFram feg axg ¥ fobar o 22

By which means CNC machines are controlled?

A. & §13 Yuret! F/A plug board system
B. 814 ¥/Manually

C. | /A cam

D. YU 1/A programme

9. T IS0 @Rex AT U B BT T oo gl

Purpose of providing counter boring is for

A. fo5g Rivsii &1 fadiied/Deburring hole ends

B. Widhc 88 ¥h3ll Dl WM al/Accommodating socket head screws
C. Pifed fal 1 1 ®=A1/Finishing cored holes

D. gty TR dd f5a! ! g1 d3A/Enlarging holes to accurate size

10. Tfe A & HaRTeT DIV SR ST & af SHPBT URumg 1 gRTm?
What will be the result if the clearance angle in drill is increased?
A. T a1 fehar/Poor wedging action
B. R[d f&9g ¥dg/Rough hole surface
C. gud ®a- ®R/Weak cutting edge
D. SerT g3 fdg ®ivr/Increased point angle

11. HfRffd MR & forddt ghUl & acd= & forg dy & Fafafed & @ oF9-8 F1-uRS Ul &1
SUANT o ST 872
Which one of the following work holding accessories is used for turning an irregularly
shaped workpiece on a lathe?

A. 3-8 9%/ Three jaw chuck

B. g4 ufel/Face plate
C. uREres ufesi/Driving plate

D. fg-89 I/Two jaw chuck



12.

13.

14.

15.

AY BS Wb & P TN TR UG TR oo gl

Taper used on spindle nose of lathe head stock is

A. SHf TqR/Jerno taper

B. 4T T &1 TUR/Brown and sharp taper
C. | TtR/Morse taper

D. fi9 TWR/Pin taper

el et fovg; b1 e pR) b foT pH-1 3HaR e foharm STl 82
Which is the letter used for indicating a basic hole?

A H

B.F

C.G

D.M

QT A T TR TR R BT 5|

Planing machine tool post is mounted on?

A. TR §Ta/Clapper box
B. %14 Yd/Cross rail

C. UuH/Apron

D. ¥se/Saddle

forht fea fom o ugad fort STHara g2 &  H1H-91 fafts el & wd- ISR BT IUTNT HRA

3arg?

Which one of the bushes used in a drill jig permits cutting tools of different diameters?

A. U9 fthe §=1/Press fit bushes

B. 3R g=I/Liner bushes

C. RR §=I/Fixed bushes

D. 3{0=11 §Uur §=1/Removable slip bushes



16. 1" B.S.P. 98 H 1" 1 YfId el g2
In 1" B.S.P. thread, what 1" indicates?

A. I8 BT T A™/Major diameter of thread
B. U134 &1 fdg &I/Hole diameter of pipe
C. 98 &1 g =m/Pitch diameter of thread
D. %€ &1 &Y r¥/Minor diameter of thread

17. Gehienvor i fopamfafer o F 1Y B BT B

Indexing head mechanism works with?

A. & g fI3R/Rack and gear

B. o g g fI3R/Worm and worm gear
C. Tl pefart f13R/Two helical gear

D. & 9dd 3R/ Two bevel gear

18. fFufefad & 3 39 gdur yATd I 1 gAT S dadt dad & feu gl

Out of the following, choose the slip gauge grade which is meant only for reference

A. 00 Ug/grade
B. 1 Ug/grade
C. 0 ¥S/grade
D. 11 U8/grade

19. Tg YT & ST B HY UM STl 82
How is drill for soft metal recognized?

A. &+ BR ®IUT J/By the chisel edge angle

B. B¢ el ®iur /By the small helix angle

C. 58 el BIvT /By the large helix angle

D. faig w11 & st 90 &7t 8/By the point angle which is 90 deg



20. SR BT DI 18?2
What is the function of boiler?

A. TR Tgd JoTTelt H 9 &1 3MTYfd & 91 38 BT ST
To burn the fuel in a confined closed system with the supply of air
B. §add Td IR HIY I+ BT
To generate steam at varying pressure
C. [RR 3E W HIU I B
To generate steam at constant pressure
D. fu T farslt are W TR T T STG BT

To produce flue gases by burning fuel at a given pressure

21. Tt TR F 3feR HTY BT 16 TG b T1Y 1 gl 82
What increases as steam pressure increases inside a boiler?

A. IE/Strength

B. 9¥dd/Density

C. Y19 uRkad &t g¥/Rate of steam conversion
D. rdl/Viscosity

22. fordlt STeR H THAMARER BT WO ..o gl
Purpose of an economiser in a boiler is to

A. Y9 T1§ SeTI/increase steam pressure

B. HIU Udlg dglHl/increase steam flow

C. $Y1 IUYITT &I gcHI/decrease fuel consumption
D. HTJ &1d ! gcHI/decrease steam pressure



23.

ST IS BIMBTR oo ar1 fafaféy faran S 81
Size of boiler tubes is specified by

A. A1 gr¥/Mean diameter

B. Yiast =/ Inside diameter

C. 183 S T Aiers/Outside diameter and thickness
D. daTs/Length

24. I G P! AU R raeR W R 72T faba e g1

Select the device which is not a boiler mounting

A. TR&fT aTed/Safety valve
B. STcT TR o/ Water level indicator

C. TpAIHISIR/Economizer
D. &4 JHdl/Pressure gauge

25. U1 9 39T & oI SHBT AT GIF oo gar gl

26.

Water boils when its vapour pressure

A. 3H-UN & g1d & RIS /equals that of the surroundings

B. URT & 760 mm & sRT&R /equals 760 mm of mercury

C. IgHSHT g1d o aR1aR/equals to atmospheric pressure

D. $egR & UMl & &1d & sRIsx/equals the pressure of water in the container

100°C W Ufd °e115.653 fB.30. UM & AT &1 ... FEd & |
The evaporation of 15.653 kg of water per hour at 100°C is called

A. Y- &HdI/ evaporative capacity

B. amsy+ &1 haer/factor of evaporation
C. do¥ di™g-/equivalent evaporation

D. T digerR Tt /one boiler h.p.



27. ufkaw g § gRareh agras

The increase in ambient pressure

A. %3 & HYIH ®I HH Bl &/lowers the boiling point of a liquid

B. % & $Yid B deTdl g/raises the boiling point of a liquid

C. %d & ®Yid IR Y9 a1 Sradi/does not affect the boiling point of a liquid
D. %4 & dYAM &I HH &l 8/reduces temperature of liquid

28. LKGM cooeereeeeeerreens F WR A8l
1 kg.m is equal to

A. 9.81 Jci/Joules
B. 736 ci/Joules
C. 427 S[d/Joules
D. 102 S[ci/Joules

29. AR SHTHTYAT ..o gl

The unit of Specific heat is

A. Kcal/Kg

B. Kcal/ m®
C. Kcal/Kg °C
D. Kcal

30. ?\tﬁaﬁwﬁ ..................... O0C &R a1y ofd &1 AET/ KJ T IS fohT TTU 19 &1 ged arvd- dgd
|
Equivalent evaporation is the amount of water at OC evaporated in a boiler / KJ
of heat supplied

A.0°C

B. 100°C

C.60°C

D. $HR %I dIUHF/room temperature



31. GIE g & I UG BT Tl SV ..o
The latent heat of steam with increase of pressure

A. 3Rafdd gt 8/remains same

B. §¢dl g/increases

C. g g/decreases

D. 3fTERUT &1 QaIJHH g1 fdaT ST Yahdl/behaves unpredictably

32. g ! TAAHIGRUMAIT AT ... gt g

Stoichiometric quantity of air is the
A. T Rt iR argred B SufRyd arg
air present in atmosphere at NTP conditions
B. 31 arg & fomT1 38 & quf g8+ gq Siférd arg
air required for complete combustion of fuel with no excess air
C. 3vaH g8 & fo Saferd arg arfes Ifad siftres arg urea &) sy
air required for optimum combustion so as to have reasonable excess air
D. CO &1 CO, # uRafdd & 8 smférd arg

air required to convert CO into CO»

33. U 6.1 Ua & 793 § 0.8 {5 7. I U9 THIfRd € | SThT Yhal 3 ... gl

One kg of steam sample contains 0.8 kg dry steam; it’s dryness fraction is

A.0.2
B.0.8
C. 10
D.0.6



Hygrometery deals with the

A. 3TEarTg! Ueri/Hygroscopic substances
B. dig &1 Sicf dr™d/Water vapour in air

C. 919 &I dI9HT-/Temperature of air

D. 919 &1 q1d/Pressure of air

35. I AT & FHUR B HTT B AT B .o g oI g |
Heating of dry steam above saturation temperature is known as
A. Tt enthalpy

B. 3ifddrd=/superheating
C. stfagii/supersaturation

D. W 3T/ latent heat

36. 3T & 3MYR R IRHSHIT I A RIS &7 3 ... gl

Oxygen content in atmospheric air on volume basis is

A.21%
B. 53%
C. 30%
D. 40%

37. TE BT YFAC TH TR .o P WS gl
The unit of pressure, one bar is equal to

A. 1 Pascal

B. 1 kilo Pascal
C. 100 kPascal
D. 1000 kPascal
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38. YU &I I HRA o IRAd H Ygad adT Het H Fddl drd & SaTd @ ... FEd gl

The ratio of heat actually used in producing the steam to the heat liberated in the furnace is

A. YT q&dr//Steam efficiency

B. SiaeR géfdl/Boiler efficiency

C. fodit 9geR &1 9w gérdl/Evaporation capacity of a boiler
D. 3T & ¥ Pis off 781/None of the above

39. Tt fufa & srefi o &Y s b ... GR1 affd fasa ST 81|

The state of vapor under saturation condition is described by

A. AT qTd/pressure alone

B. A dgATH/temperature alone

C. aId dYT d19HT/pressure and temperature

D. &Td TYT YhaT [¥5/pressure and dryness fraction

40. Fgfeiad smeg aal & 3 fger IuTNT wuffieadr Teugey & e fHar s g2

Which of the following alloying elements are primarily used for HSS?

A. HIffTH, 3f$TH quT TRe/Chromium, vanadium and tungsten
B. fAdra, Aiferss 1 @t Rifeies/Nickel, molybdenum and silicon

C. PR, aAfSgw qut Hsl/Chromium, vanadium and manganese
D. Hiftrd, fAdra qur Aiferss=H/Chromium, nickel and molybdenum

41, IGHSHN G TR YD U BT T ST .o F TR gl B

Latent heat of dry steam at atmospheric pressure is equal to

A. 539 kcal/kg
B. 539 BTU/Ib
C. 427 kcal/kg
D. 100 kcal/kg

11



42.

43.

44,

45,

.................................. F ITANT § AIHH Fde fhar S IobdT 2|

Temperature sensing can be done by the use of .............

A. dT9-dggd g™/ Thermocouple
B. 3MREISY/RTDs

C. yftfRex/Thermistors

D. Iudad Iafi/All of the above

ot STTTR BT T AT o I A BT TH I B |

The equivalent evaporation of a boiler is a measure to compare

A. 3T 7T SiaeR &1 39d el & r/the given boiler with the model
B. T g fAmfdr & i faftrst staeri @l/the two different boilers of the same make
C. TaM vaTad fRuferl & srefi < faft fafarstt & staert 31

two different makes of boilers operating under the same operating conditions

D. fopeit it fRufd o 3refi=1 gremferd foblt +t GopR o sareRi bl

any type of boilers operating under any conditions.

TS Fg & I W1 1 AR ofra= g UbR gedr 82
The specific volume of steam decreases with increase in pressure

A. X% &4 I/linearly

B. uga vt 3R b farm 71fa Q/slowly first and then rapidly
C. Ugd f&rw iR R ofieht 71fd I/rapidly first and then slowly
D. ufadsd:/inversely

3x5+15+5-10=

A. -1

B.B.2

C.C.8

D. D. 3udad H ¥ ®I5 it 781/None of the above

12



46.%0%pg$m%ﬁ%ﬁuﬁaﬁwaﬁwwagﬁwwwmaﬁﬂaﬁﬁ$ﬁw
2

What is the maximum radius of cylinder which can be made out of a regular square cross
section rod with side 10 mm?

A. 10mm
B. 5mm
C. 7mm

D. 5v5 mm

47. A0 U fafdg IR Sa 19 &) Y IR AT HA DR ... gl

The reason for setting the two point bore dial gauge to zero before measuring is to ....

A. AT Bt 3EUTST &I g HA1/Eliminate inaccuracy of the measurement

B. o1 Y dhRA1/Facilitate comparison
C. 9 ® URfY® 1§ daR HRA1/Setup initial pressure in the gauge
D. f&% @ sigidbRdl/Account for ovality of the hole

48. WY & TS TR AT gU FRR e o1 TS F1 52

What is the purpose of a steady rest fixed on the saddle of lathe?

A. T & THT FHaH OR TR YR HH AT

To reduce the load on the cutting tool while turning
B. dd el & ol & JHY AY gl TR HR T8 ol

To avoid load on the lathe centres while turning long jobs
C. T gl & HRUT A [T B S D AT

To prevent bending of long shafts due to cutting forces
D. R &1 78 S il I IR W dad GHd BT

To enable turning at higher cutting speeds than recommended

13



49. 3ffa 3= 3F (150-200 kg/cm2) R TE YF AW UTT &1 IgHST T ST foran SIm § a9 a8

50.

51.

52.

.............. CEACIIES
The dry saturated steam at very high pressure (150-200 kg/cm2) when throttled to
atmosphere will become

A 35/ Wet

B 3ifadifid/Superheated

C U IJu &1 3gdl o/Remain dry saturated
D I5/Dry

keal/kg T Sifaamfid HTT ot fAfRIS SHT ATHRIT ..o Hife Bt gt Bl

The specific heat of superheated steam in kcal/kg is generally of the order of

A.0.1
B.0.3
C.0.5
D.0.8

gfg 100mm TS & el s <8 & 1Y TS qUul JHI &1 $Hars 50mm g df HI0T e &
Aeffed s

Determine the angle set if the height of slip gauges used is 50mm with a sine bar of 100mm
length

A. 45 T&Ut/degree
B. 60 f&il/degree
C. 30 f&¥it/degree
D. 15 f&3il/degree

100 mm x 100 mm bR & fobefl 2fic T 10 mm x 10 mm HR & fba SADBR Tha! D
HTCT ST el 52
How many rectangular pieces of size 10 mm x 10 mm can be cut from a sheet of size 100
mm X 100 mm?

A. 10
B. 1000
C. 100
D.5
14



53.

54.

55.

10mm B & fHat Rifeier o IRY 3R T T IR dieq & e siawae I=f &t dars fha-t 82

What is the length of rope required to wrap around once a cylinder of radius 10mm

A. 10m
B. 20=n
C. 100
D. 5n

a1 “a” & foefl bR & faspul Y ofaTg fbatt givft»

What is the length of the diagonal of a square of side “a”

A. 2a
B.\2a
C.a?
D. 4a

AR & gH U1 IH URRT BT ST o ¥ fom frar Smar g1

Worm and worm wheel drives in machines are used to?

A. §S 9 YUl & UNUT FHR/Transmit large torque
B. SR Tl & UWUT H=-/Transmit higher speeds
C. g ue ¥ 9 ufgy % 1 # 9t Herdl Uad HA
Provide large speed reduction from worm shaft to worm wheel
D. g Ufeq ¥ g QU e T | I8t Pl JaH B

Provide large speed reduction from worm wheel to worm shaft

56. fFaforad H T HH-91 IS S YHIH! S BT UdT A & [3fY 7t 872

The following is not a method to find effective diameter of a thread

A. I8 ATShidie’/Thread micrometer
B. & arR fafd/ Two wire method

C. o9 arR fafd/Three wire method
D. dt-saie fafd/The v-block method

15



57. SGISH UHH ..o g1 Adiabatic process is

A. 31far =1 ¥ T THU= U@ UehH/ essentially an isentropic process
B. TR &1 RIFARUI WshH/non-heat transfer process

C. Ihyuitd UehH/reversible process

D. fRR AUHH WhH/constant temperature process

58. StdUTa &7 98 & § S

Sublimation region is the region where

A. 31T TYT aT Jra=Te 9 § | /Solid and vapour phases are in equilibrium

B. 31 T &a WIGRITE 9 & € /Solid and liquid phases are in equilibrium

C. %9 YT AT YGRS 91 § § /Liquid and vapour phases are in equilibrium

D. 319, % a1 A WIgRATE [r § € /Solid, liquid and vapour phases are in equilibrium

59. foddt It upr |

In a throttling process

A. 4T droHT fRR Il 8/steam temperature remains constant
B. MU 214 fRR IgdT 8/steam pressure remains constant

C. Y19 T} fRR T84T 3/steam enthalpy remains constant

D. YTg TIdt fRR IgdT 8/steam entropy remains constant

60. ST9 CRETSH! B HTT HT fawdR gl & 99 Yifad &4 J Tt

While steam expands in turbines, theoretically the entropy

A. 3mfafdd ¥gaT 8/remains same

B. §¢dl g/increases

C. Ucdt g/decreases

D. 3{TeRUT &1 YaigHM 8! fdar Sff Ihdl/behaves unpredictably.

16



61. 4 kg/cm? % T TUT 160°C AT TR U &I IF IRIHSd H AT W1 91dT § I9 a8
BT

Water at pressure of 4 kg/cm? and 160°C temperature when exposed to atmosphere will

A. a9, I g § glkafdd 81 Smem/flash i.e. get converted into steam
B. 34t @@ @M/remain as it was

C. Xftad g1 Se/cool down

D. STad & ¥ PIs g1/none of the above.

62. IT AT BT oo HEd ¢ o TJW HTT &1 316 FeTd fSHT 3UF dT9HH &I S 8d Ugad
foar ST g
A device used to increase the temperature of saturated steam without raising its pressure, is
called

A. =1 3% BHid/Blow off cock
B. e 1¢/Fusible plug

C. 3{faarft=/Super heater

D. fa=mH dred/Stop valve

63. TTR oo TCHNIHER & SRTER g |
1 bar is equal to --------- atmosphere
A. 1102
B 0.987
C. 0.897
D 1.210

64. fdt MeR ufgy 7 36 <d 3R 3 mm HSId & | ITHT o S fare1 872
A gear wheel has 36 teeth and 3 mm module. What is its pitch diameter?

A.12 mm
B.75 mm
C.80 mm
D.108 mm

17



65. 500 T 3 Tt Icre ot il T TR 0.4% TSN HIT § | STH e I&Iy U & Srgafa
FASIE IR
What is the number of allowable defective parts in a production of 500 parts with an
acceptance quality level of 0.4% defective parts?

Al

B.20
C.10
D.2

66. 39 JN-TT6 Uk BT g9 DI fS TR F&fdl T 37eaRIIuT fohat S B |
Select the surface texture component upon which the roughness is superimposed?

A. TR/ Waviness

B. UB-T1&-/Surface texture

C. J&T HYH(l)/Lay

D. g8 &1 =&fdl/Surface roughness

67. for<it Twor 7=f &1 oifs % O 5mm g 3R faue =iy 3ruTd 40 : 1 81 39 Uwor 4= &1 e
........................ &l
The lead screw pitch of a milling machine is 5mm and the dividing head ratio is 40 : 1, the
lead of the milling machine is?

A. 200 mm
B.5mm
C.8mm

D. 0.125 mm

18



68.

69.

70.

gTerdl BT HI-T1 Garor bl wer Uftid a6 di & Tag R § GUR oRal 82

Which combination of parameters improves the surface finish of a rough milled workpiece?

A. T T 1Y, BIS ¥e 3R BT B TeRTs HYH B

Increase cutting speed, reduce feed rate and depth of cut
B. BIS 3T, BIC B! TERTS FGIY, 3R Ha T HH B

Increase feed rate, depth of cut and reduce cutting speed
C. BIg YT, BT B TERT8 3R Hei T §1Y

Increase feed rate, depth of cut and cutting speed

D. $d Tfd, B I 3R PIC B! TES HH B

Decrease cutting speed, feed rate and depth of cut

T =i & i T 3R Re T & ofi" &1 3urd foba 82

What is the ratio between cutting stroke and return stroke in shaping machine ?
A2:3

B.3:5

C.5:3

D. 3:2

H7 g6 GRT FfGE ®1% T oo fpe grar g
A fit designated by H7 g6 is a ---------------- fit

A. faaig fise/Clearance fit

B. $<Xh fthe/Interference fit
C. ¢if¥=M fhe/Transition fit

D. HifSRT fthe/Siezing fit

The thread angle for UNF thread is

A. 30°
B. 60°
C.55°
D. 29°
19



72.0.008% ¥ 0.025% TP BT Y I AT6T oo 1 & ST S

73.

74.

75.

Iron with 0.008% to 0.025% carbon is known as

A. TR1sc/Ferrite

B. TUdige/Pearlite

C. dHmwrse/Cementite

D. BEW Jeaciss/Hyper eutectoid

Tl sRe Wl & T & =0 § fafaRad o 9 fasdest SuanT fasan S g2
Which of the following is used as the flux in a blast furnace?

A. et w1afgs/Silicon Carbide

B. ®id/Coke

C. gHCRe/Hematite

D. gA9&R/Limestone

forht IR FIfR & afFR Wra & 50 fAUTSH &7 Tha W 49 faUTSH! & SRIeR & | T-& Whd
HT UIdid 40 mm § 3R 2091 IR W6 AU o7 Thd & I1Y Tt g1 Sl g1 UIsdids
foe 82

In a vernier caliper 50 divisions of the vernier scale occupy 49 divisions on the main scale.
The main scale reading is 40 mm and 20™vernier scale division coincides with the main
scale. What is the reading?

A. 40.4 mm

B. 40.04 mm

C. 40.02 mm

D. 40.2 mm

UM HeiH T o o B o & feal B qa-1 H IS N & (STT BT IPM o =Huil

For the same cutting speed, larger diameter drills will have rpm compared to smaller
diameter drills

A. 3=dR/Higher

B. ¥HH/Same

C. ®H/Lesser

D. 35dad & ¥ Pis +ff 781/None of the above

20



76. forsht Fafird Ty &1 U1 10 mm 81 39 TSYGl &7 3R-UR Tie I Taie faur faamt gt
The side of a regular hexagon is 10 mm. What is the across flat to flat dimension of the
hexagon?
A. 17.32
B. 1.732
C. 20
D. 30

77. fafé & ava-T¢ WY v A & fore Fufafaa 7 @ ford SR &1 IuaT fasar Siran 82
Which of the following tools is used to get a fluid-tight joint in riveting

A. 80T gd/Hammering tool

B. $aRi gd/Fullering Tool
C. WfSiT ga/Swaging tool
D. f¥dT de/Rivet set

78. fEfafed & @ &H-91 T St UhH 52
Which of the following is an exothermic welding process?
A. TfcRIY 9e8/Resistance welding
B. 719 3%&/Gas welding
C. 3% des+/Arc welding
D. yfffe a&/Thermit welding

79. TS {5 7 MHR 12 *0-00040.012 For7 Qi T HTHR 12 00060017 @ o T fFdon{ ... gl

If the hole size is 12 T0-000+0012 @  shaft size is 12 “0-096/-0.017 the minimum clearance is

A.0.029 mm
B. 0.012 mm
C. 0.006 mm
D. 0.023 mm

21



80. fAuferRad & T SI9-TT 3T HIUN AU BT IUDHRUT 52

Which of the following is an instrument for indirect angle measurement?

A. 949 Tol/Bevel Gauge

B. §dd Wicaex/Bevel protractor
C. HITe==H ¥e/Combination set
D. d1gd dR/Sine bar
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